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Solve each equation. Check your solutions.
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16. Marian can weed a garden in 3 hours. Robin can weed the same

garden 1n 4 hours. How long will the weeding take them if they work together?

17. David can unload a delivery truck in 20 min. Allie can unload a delivery truck
in 35 min. How long will the unloading take them if they work together?

Solve each equation. Check your solutions. If there is no solution, write no solution.
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Solve each equation. Check your solutions.
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32. Two pipes fill a storage tank in 9 hours. The smaller pipe takes 3 times as long
to fill the tank as the larger pipe. How long would it take the larger pipe to
fill the tank alone?

33. A teacher assigned the equation =* 40 = — Carlos studied the equation and
g q 5 q

said, “I'll start by finding the LCD ” Ingrid studied the equation and said, “I’ll
start by cross multiplying.”
a. Solve the eanation using Carlos’s method and then Ingrid’s method.

b. ethod do you prefer? Explain why.
c. Will Ingrid’s method work for all rational
cquauons / EXpl'dln.
. . % 3% 2+ 9
34, Find the value of each variable. 2-15 5 .3 = 1 9
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35. a. Write two functions using the expressions on the two sides of the equation
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r

L* 7y p Glaph the functions.

b. Find the coordinates of the points of intersection.

¢. Are the x-values of the points of intersection solutions to the
equation? Explain.
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